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[3] Choose the most appropriate word(s) for each dialog.

(1)
E IR REDB AN D
BEW:-LEEA,
@  over time @ off time @ in time @ by time ® for time
(2)
E R REDB AN D
*‘E’ﬁll\f: Li‘li'/vo
(D foolish @ credible @ reasonable @ good ® admirable
(3)
E IR REDB AN D
BEW:-LEEA,
(O one @ none ® some @) someone ® all
(4)
SERREDRAD D
BEWN - LEEA,
(1) prosecutor (2 guardian @ city worker (@ librarian @ interpreter




(5)

EFEREDE NS
BEN-LEREA,

@ open @ close @ shallow @ deep

® right

(6)
EERREOE AN 5
BEW-LFEEA,
O announced @ provoked @) covered @ submerged & disregarded

E (20 - 6)



[4] Complete the following sentences by putting the most appropriate word(s) in each space. Then mark

on the answer sheet the corresponding numbers for words in the blanks ( a ) and ( b ). The

same word(s) cannot be used twice.

(1)
BRI DA
BEL-LEEA,
@© Greek @ make @3 being @ win
® single ® a @ out ® word (a) | (b)
13 14
(2
S EEREDIAD 5
BEOLEREA,
@ a @ be @ to @ or
® stop (6 sooner @ must ® put (a) | (b)
15 16
(3)
SRR DA
BEL - LEEA,
@ office @ has @ when @ work
® to (6) necessary @ hours ® beyond (a) | (b)
17 18
(4)
5B RIE DA
BELLEEA,
@O being @ of @ until @ lost
® value (® healthy @ it ® they (a) | (b)
19 20

E (20 -7




EEEREOBERND

BEL - LEEA,
@ come @ others @ leave @ for
® the ® who (@ those ® will (a) | (b)
21 22

E (20 - 8)




[5] In the following conversation, four people meet for the first time in five years. They went to the same

high school and they were classmates.

Put the sentences in each box so as to make a conversation. Then mark on the answer sheet one

correct answer from the five opinions.

EFEREDE SN S
BEn-LEEA.

(D Mr. White was very kind, but sometimes he was so talkative that he almost forgot the class
(2) Tom has a career in teaching and he wanted to get advice from Mr. White
@ Mrs. Williams must have concentrated on drawing graphs without uttering a word for a long time

(@)  Mrs. Williams was very hasty and she often left her glasses somewhere

(® Jane was not very good at mathematics so she didn't like Mrs. Williams 23

E (20 - 9)



EEEREOH AN D
*‘Eﬁll\f: L/ iﬁ/\lo

I don't know why the teacher just watched the girl taking out the mirror

Everybody in the class had to advise the girl to concentrate on studying

If the girl hadn't played a prank'on a teacher, she would have begun the lesson right away
Although the students were interested in the new teacher, they never showed their respect to her

If the teacher had got angry and told her to put it away, the girl might not have become diligent

EFEREDE NS
BELN-LEREA,

E (20 - 10)




EZFEREDE RN D
BEn:-LEEA,

He was a good teacher because his method of teaching was great and second to none
Even if you were good at math when you were small, your zest for math faded away
The teacher was very cynical about life and we were influenced by him at that time
Though he might be sarcastic, his satire would motivate you to study more seriously

With time, patience and a sense of humor, it can be successful

B 120 - 11)
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[6] Read the following article and answer the questions below.

EZEFEREDE NS
BELN-LEREA,

E (20 - 12)



EZFEREDER AN D
BEunf-LEEA,

(1) Refer to the underlined part [ 1]. Choose the best meaning in this context from below.

@D 1o sail across the sea

(@ to feel confident and be successful

@ to deal effectively with a difficult situation
(@) to become the first person to do something

() to travel alone over a long distance

E (20 - 13)




(2) What kind of students scored higher in the reading assessment from the first paragraph?

CECHORECNG)

Students who feel like going to school and make friends easily.

Students who feel a sense of belonging at school and are able to connect with adults and peers.
Students who like to go to school and are able to enjoy time with their friends.

Students who have a strong sense of belonging and are always ablé to agree.with others.

Students who always study hard and spend a lot of time at school. 27

(3) Refer to the underlined part [11]. What is the role of social and emotienal skills from the first paragraph?

SHECHECEONRS

Understanding and respecting each other to partieipate.in a discussion.
Communicating well with other students and teachers'in school.
Keeping good relations with other students t6"develop one’s career.

Talking about individual differences fo receive a high evaluation.

Forming strong social groups to support-the disadvantaged. 28

(4) Choose the most appropriate genténce which can be said from the first paragraph.

©© 6606

Sometimes home can be a precarious place for students.

Students who like school are likely to make friends easily.

Students need to have teachers' support until they get used to school,

Students who fail repeatedly are likely to make progress.

Students who believe that teachers take care of them like their school. E

(5) Choose the sentence which can be said from the second paragraph.

CECECECNC)

Sense of belonging is influenced by friends, peers and other members.
Three measures of social relations could be found in school.
The relation between students and teachers are the most important in school.

Sense of school belonging leads every student to new findings.

Students should work side by side to stop bullying. 30

E (20 - 14)



(6) What statement can be inferred based on the bar chart?

Ninety percent of students indicate that they feel like they belong at school.
The graph shows that girls’ sense of school belonging is higher than that of boys.

Older students are more likely to feel a sense of belonging in their commiinity than younger ones.

® e e

Younger students are more likely to agree with the statement “I.make ‘friends easily at school”
than older ones.

(& According to this graph, no less than two thirds of the students feel awkward and out of place in

their school.

E (20 - 15)



[7] Read the following article and answer the questions below.

EZFEREOR AN D
BEn-LEEA,

E (20 - 16)




EZFEREODR AN D
BEn-LEEA,

E (20 - 17)




(1) Refer to the underlined part [A] Living Planet Index (LPI). Choose the best meaning in this context

from below.

SECEONONS

It is an assessment to show average decrease in population sizes of mamrmials.
It shows a decline in the tropical subregions of the Americas over recent/decades.
It is perfect data of all the species in the world.

It is a collection of population trend data for species around the world.

It is a measure of the state of the world's biodiversity based on species population trends.

(2) When did our ecosystem begin to be degraded by htman activities?.

® © e 6

Since the first human ancestors appeared on thisplapet.

Since waters were polluted and lost completely,

Since agricultural societies became industrialized by innovation.
Since biodiversity became essential to human life.

Since the evidence of human‘activities became unambiguous.

(3) Choose the best word below to fill in the blank [B] in the third paragraph.

ONCHECECONGS)

complex
two-fold
impossible
minute

straightforward

(4) Choose the best meaning of [C] Ecological Footprint in this context from below.

©@ee e

It is human population growth that transformed and damaged our world,

It is a method of conserving natural resources.

It shows a barrier to hamper the growth factors in regeneration,

It shows the relationship between Earth's productivity and human consumption.

It is a key to the regulation of our flood control,

E (20 - 18)
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(5) Choose the most inappropriate meaning to the [D] underlying.
@ basic @ lukewarm @ cardinal @ fundamental (& essential

(6) Choose the most appropriate summary for the sixth paragraph.

@ Famous animals such as tigers, pandas and polar bears are all under threat.

@ All animals under threat will warn us of the danger on this planet.

@ As for the story of biodiversity decline, very tiny creatures are showing signs of stress.

@ Plant and insect diversity as well as mammals are under/threat on the earth.

® As biodiversity declines, we should provide suppert for.all the animals under threat.

(7) Choose the best sentence below to fill in the bidfik [E] in the eighth paragraph.

Biodiversity plays an important role inproviding food
Biodiversity is one thing and our eéeonomy is another
Human wealth depends little on nature's health

Humanity has prospered at a tremendous rate

Our economics are embedded within nature

(8) Choose the sentence which can be said from the ninth paragraph.

CECHECHEONG)

(D We can estimate the value of natural capital as well as human capital.

@ Our natural resources have declined since the early 1990s and so does our country's true wealth.
@ As our natural resources are almost non-renewable, we should keep them.

@ Roads and skills are the only human capital which form a measure of a country's wealth.

® Our global stock of natural capital fell sharply before recovering slightly later.

(9) Choose the most appropriate sentence which can be said from the tenth and eleventh paragraphs.

(D Economic Grammar cannot be understood by the public so decision-makers don't work well.
@ Biodiversity conservation should be on by among economic and financial decision-makers.
@ Economic Grammar is so artificial that nobody would agree with it.

@ Our real world problem and the public and private policy don't work well together,

(& Nature's syntax is basically about what word comes before and after another word, 40

E (20 - 19)



(10) Choose the most appropriate sentence which can be said about [F] the Bending the Curve Initiative
in the twelfth paragraph.

© e e

It is a roadmap to overcome our difficulties,
It is missing data for some species or places.
Tt is a project to stop the biodiversity loss and restore biodiversity:

It is a chance of producing food for everybody.

It is a demonstration to verify the certain concepts. 4

(11) Choose the best combination for the blanks [X] and [Y] insthe*thirteenth and fourteenth paragraphs.

GECHECECNS)

[X] Y]
intertwined certain
intertwined uncertain
incompatible certain
incompatible uncertain
intertwined hopeful 42

(12) Choose the most appropriate title for the article.

CEORORCNGS)

Human Life on Earth
Transforming our Natural World
How to Reverse the Trend of Decline

Earth's Loss of Biodiversity

Super Year of Climate 43

E (20 — 20)
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